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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by social responsibility of 

business ? Describe the responsibility to different 

stakeholders of business.  

O;olk; ds lkekftd mŸkjnkf;Ro ls vki D;k le>rs gSa \ 

O;olk; ds fofHkUu fgLlsnkjksa ds izfr O;olk; ds 

mŸkjnkf;Ro dk o.kZu dhft,A  

2. Define consumer and consumerism. Write an essay on 

consumer protection and consumerism in India.  

miHkksDrk ,oa miHkksDrkokn dks ifjHkkf”kr dhft,A miHkksDrk 

laj{k.k ,oa Hkkjr esa miHkksDrkokn ij ,d fucU/k fyf[k,A 

3. What do you understand by Economic Development ? 

Discuss the role of New Economic Policy in Economic 

Development of India.   

vkfFkZd fodkl ls vki D;k le>rs gSa \ Hkkjr ds vkfFkZd 

fodkl esa ubZ vkfFkZd uhfr dh Hkwfedk ij cgl dhft,A 

4. What is Licensing Policy ? Do you think licensing 

policy of India had affected growth of industries in 

India ? Explain.   

ykblsaflax uhfr D;k gS \ D;k vki le>rs gSa fd Hkkjr dh 

ykblsaflax uhfr us Hkkjr esa vkS|ksfxd fodkl dks izHkkfor 

fd;k gS \ O;k[;k dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What are the uses and limitations of Macro  

Economics ?  

lef”V vFkZ’kkL= ds mi;ksx ,oa lhek,¡ D;k gSa \ 

2. What do you mean by privatisation ? Offer arguments 

in favour and against privatisation ?  

futhdj.k ls vki D;k le>rs gSa \ blds i{k ,oa foi{k esa 

rdZ nhft,A  

3. Describe the causes of Industrial Sickness.   

vkS|ksfxd #X.krk ds dkj.kksa dk o.kZu dhft,A  

4. Identify the main affects on business of increasing 

rates of inflation.  

O;olk; ij eqnzk LQhfr dh c<+rh nj ds izeq[k izHkkoksa dh 

igpku dhft,A  

5. What is World Trade Organisation (WTO) ? Describe 

the impact of this organisation on the Indian Economy.  

fo’o O;kikj laxBu D;k gS \ Hkkjrh; vFkZO;oLFkk ij bl 

laxBu ds izHkko dk o.kZu dhft,A  
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6. Analyse the nature and causes of the problem of 

unemployment in India.  

Hkkjr esa csjkstxkjh dh leL;k dh izd`fr ,oa dkj.kksa dh 

foospuk dhft,A  

7. Indicate briefly the various causes of income inequality 

in India.   

Hkkjr esa vk; vlekurk dh leL;k ds dkj.kksa dks la{ksi esa 

bafxr dhft,A  

8. What do you understand by Inflation ? Explain the 

causes behind high rate of inflation in India.  

eqnzk LQhfr ls vki D;k le>rs gSa \ Hkkjr eas mPp eqnzk 

LQhfr ds dkj.kksa dks of.kZr dhft,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR; % 

1. Environmental problems are only applicable to 

NAFTA countries.  (True/False) 
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i;kZoj.kh; leL;k,¡ dsoy uk¶Vk (NAFTA) ns’kksa ij ykxw 

gksrh gSaA   ¼lR;@vlR;½ 

2. Endless controlled growth has led to many of our 

environmental problems.  (True/False) 

vUrghu fu;af=r o`f) us gekjh vusd i;kZoj.kh; leL;kvksa 

dks tUe fn;k gSA   ¼lR;@vlR;½ 

3. GST is a kind of Indirect Tax. (True/False)  

eky ,oa lsok dj ,d vizR;{k dj gSA ¼lR;@vlR;½ 

4. Unemployment is a situation in the labour market 

where the supply of labour is greater than its demand.  

     (True/False) 

csjkstxkjh og fLFkfr gS tc Je cktkj esa Jfedksa dh vkiwfrZ 

mldh ek¡x ls vf/kd gSA   ¼lR;@vlR;½ 

5. Gini coefficient is used to measure the income 

inequality.  (True/False) 

fxuh xq.kkad }kjk vk; dh vlekurk dk ekiu fd;k tkrk 

gSA     ¼lR;@vlR;½ 

Select the best/most correct alternative for the following : 

fuEufyf[kr gsrq loZJs”B rFkk lokZf/kd lgh fodYi dk pquko 

dhft, % 

6. Which environment is beyond the control of the 

business ? 

(a) Internal  
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(b) External  

(c) Micro  

(d) Macro  

fuEufyf[kr esa ls dkSu&lk i;kZoj.k O;olk; ds fu;a=.k ls 

ckgj gS \ 

¼v½ vkUrfjd  

¼c½ cká 

¼l½ lw{e 

¼n½ O;f”V 

7. Which of the following is an example of social 

environment ? 

(a) Consumer Protection Act 

(b) The constitution of the country  

(c) Money supply in economics  

(d) Composition of family 

fuEufyf[kr esa ls dkSu&lk lkekftd i;kZoj.k dk mnkgj.k 

gS \ 

¼v½ miHkksDrk laj{k.k vf/kfu;e 

¼c½ ns’k dk lafo/kku 

¼l½ vFkZ’kkL= esa eqnzk vkiwfrZ  

¼n½ ifjokj dh lajpuk 
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8. The pre-liberalisation era of Indian economy was 

under the grip of :  

(a) Unemployment  

(b) Underemployment 

(c) Fiscal deficit  

(d) Unfavourable balance of payment  

mnkjhdj.k ds iwoZ Hkkjrh; vFkZO;oLFkk fuEufyf[kr esa ls 

fdldh idM+ esa Fkh \ 

¼v½ csjkstxkjh  

¼c½ vYijkstxkj 

¼l½ foŸkh; ?kkVk 

¼n½ izfrdwy Hkqxrku larqyu  

9. Planning is a process ............. 

(a) Goal oriented  

(b) Flexible  

(c) Time bound 

(d) All of the above 

fu;kstu ,d 
----------------

 izfd;k gSA  

¼v½ y{; mUeq[k 

¼c½ yphykiu 

¼l½ le; fu/kkZfjr  

¼n½ mi;qZDr lHkh 
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10. The Industrial Policy Resolution was passed first in :   

(a) 1931 

(b) 1947 

(c) 1956 

(d) 1999 

vkS|ksfxd uhfr izLrko loZizFke fuEufyf[kr esa ls fdl o”kZ 

ikfjr gqvk \ 

¼v½ 1931 

¼c½ 1947 

¼l½ 1956 

¼n½ 1999 

 

 

 

 

 

 

 

 

 

 

 

S–29  1,680


